C:# Rewriting Expressions Name:

Rewrite each expression in its smplest form, ANSWers
Y (YF+13) - (ZF+8) .
2.
D (Y -15)- (Fv +2) X
.
D (VoN-11)- (7N - 16) ;
6.
Y (T +13) + (YA + 15) ,
8.
) -(16/28X-6)+(6/7X+4) 9
10.
6)

(/,C-18)-(7,C+20)

D (Yer-10y-(¥T-18)

D (R+9)- (R~ 12)

Y (YH-5)-(YH-9)

O Yk -15)- (Y - 18)
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ﬂh Rewriting Expressions Name: Answer Key

Rewrite each expression in its simplest form. Answers
Y (VF+13)-(ZeF+8) L 5
Vo +13- 74 -8 R AVET
2 N - 15) - (7 +2) 3 Vo N+5
eV - 15 - VogV - 2 /N
¥ (4/20N ~11) - ( 2/5N - 16) 5, 8/28X-2
VooN - 11 - ZooN + 16 . -/C2
Y (Tion +13) + (Vyon +15) AL
'32/40A -13+ 24/40A +15 8 g 40R*3
K -( 16/28X -6) +( 6/7X +4) 3 '9/6H+14
-16/28x +6+ 24728X +4 10 -7/, K+3
¥ (¥c-18)-(¥,c+20)
Y,C+18-7,C-20
D (Ver-10y-(¥T-18)
VT +10- /T +18
¥ (VR+9)- (YR 12)
oR-9- YR+ 12
Y (YH-5)-(YH-9)
VH+5-YgH+9
O Yk -15)- (Y - 18)
YK -15- 7K + 18
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